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Problem quickname: 8600

1)

Calculate the result.

a) 134.09 = 1000 b) 120.37 + 100 c) 381.76 + 100 d) 789.72 + 100
e) 163.54 + 10 f) 691.97 = 100 g) 881.16 =+ 10 h) 403.84 <+ 100

i) 228.8 = 100 j) 448.05 = 100

2)

Calculate the result.

a) 6.2653 = 10 b) 9.2951 <+ 100 c) 5.3623 + 10 d) 4.9415 =+ 100
e) 4.7288 + 10 f) 6.2446 + 100 g) 9.8007 = 100 h) 1.1177 + 10
i) 2.5987 = 100 j) 8.872 + 100

3)

Calculate the result.

a) 23.5 < 10000 b) 75.1 + 1000 c) 67.3 = 100 d) 91.2 + 1000

e) 62.1 + 1000 £) 54.2 + 10 g) 68.8 = 10 h) 94.4 + 100
i) 45.1 = 1000 i) 46.7 = 100

4)

Calculate the result.

a) 781.593 = 100 b) 730.2008 = 10 ¢) 789.3928 + 1000

d) 354.8477 = 10000 ¢) 680.0814 + 100 ) 705.8045 = 1000
g) 689.2986 + 1000 h) 885.7113 = 1000 i) 496.0087 + 10000
i) 152.192 = 10000

Good Luck!
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